
 

SJ4 1 MASTER SET 
 

CÎma àXoe AYrZñW godm M`Z Am`moJ, bIZD$ 
{dkmnZ g§»`m-09-narjm/2022, H${ZîR> ghm`H$  

_w»` narjm (àm.A.n.- 2021)/09 

CÎma H§w$Or (_mñQ>a goQ>) 

QP Code : SJ4  narjm {V{W : 19-01-2025 

 
1. ar{VH$mb H$mo ûm§¥JmaH$mb H$s g§km {H$gZo Xr h¡ ?  

{dídZmW àgmX {_l 

2. Ohm± Xmo dñVwAm| _| {d{^ÞVm ahVo hþE ^r CZHo$ ê$n, a§J, JwU, ñd^md Am{X H$s g_Vm H$s OmE, dhm± H$m¡Z-gm 
Ab§H$ma hmoVm h¡ ? 
Cn_m 

3. "N>§X' H$s àW_ MMm© __________ _| hþB© Wr & 
F$½doX 

4. Ohm± Cn_o` `m àñVwV H$s CËH¥$îQ> Cn_mZ `m AàñVwV Ho$ ê$n g§^mdZm `m H$ënZm H$s Om`, dhm± H$m¡Z-gm Ab§H$ma 
hmoVm h¡ ? 
CËàojm 

5. "H¥${V Zht n‹T>r&' dmŠ` _| H$m¡Z-gm dmÀ` h¡ ? 
H$V¥©dmÀ` 

6. _mIZbmb MVwd}Xr H$mo {H$g nwñVH$ Ho$ {bE gm{hË` AH$mX_r nwañH$ma {_bm Wm ? 
{h_Va§{JZr 

7. g¡æ`X B~«mhr_ {H$gH$m dmñV{dH$ Zm_ h¡ ? 
agImZ 

8. {ZåZ{b{IV _| go H$m¡Z-gm eãX "Hw$gw_eg' eãX H$m n`m©`dmMr Zht h¡ ? 
XodZXr 

9. {H$gr ^mfm Ho$ _ybeãX H$mo Š`m H$hVo h¢ ? 
VËg_ 

10. "H$m¡VwH$mW©' AZwn ẁŠV dMZ `m {dH¥$V ê$n aMZm go AmhbmX ẁŠV _Zmo{dH$ma hmo, V~ H$m¡Z-gm ag hmoVm h¡ ? 
hmñ` ag 

11. {ZåZ{b{IV _| go n`m©`dmMr eãX h¢ 
hþVmeZ, AZb 

12. H$maH$ gy{MV H$aZo Ho$ {bE g§km `m gd©Zm_ Ho$ AmJo Omo àË`` bJmE OmVo h¢, CÝh| Š`m H$hVo h¢ ? 
{d^pŠV 
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13. {H$g {dÛmZ Zo à{deofU H$mo AÝV{d©eofU H$hm h¡ ? 
H$m_Vm àgmX Jwé 

14. "Bjw' H$m VØd eãX h¡ 
B©I 

15. "Ahoa' H$m VËg_ eãX h¡ 
AmIoQ> 

16. "{edm~mdZr' Ho$ aMZmH$ma h¢ 
^yfU 

17. 
{ZåZ{b{IV _| go {H$g {dH$ën _| g^r eãX VËg_ h¢ ? 
Cn`w©ŠV _| go H$moB© Zht 

18. 
{H$g dmŠ` _| A{YH$aU H$maH$ h¡ ? 
nwñVH|$ _oO na aIr h¡ & 

19. 
{ZåZ{b{IV _| go H$m¡Z-gr aMZm _hmXodr d_m© Or H$s Zht h¡ ? 
emoH$moÀN>dmg 

20. am_mkmàý {H$gZo {bIr ? 
 VwbgrXmg 

21. 
{~hmar H$s aMZm "gVgB©' _| {H$g ^mfm H$m à`moJ hþAm h¡ ? 
~«O^mfm 

22. 
"AmYw{ZH$ {hÝXr H${dVm _| {~§~{dYmZ' Ho$ boIH$ h¢ 
Ho$XmaZmW {g§h 

23. 
"CÝ_m{XZr' {H$gH$s aMZm h¡ ? 
gw^Ðm Hw$_mar Mm¡hmZ 

24. "gm{hË`Xn©U' Ho$ aMZmH$ma H$m¡Z h¢ ? 
{dídZmW 

25. öX` _| g§{MV a{V Am{X "ñWm`r ^mdm|' H$m H$m ©̀, _Z Am¡a dMZ H$s MoîQ>m Ho$ ê$n _| àH$Q> hmoZm Š`m H$hbmVm h¡ ? 
AZw^md 

26. 
^aV _w{Z Zo AnZo "ZmQ>çemñÌ' _| ^mdm| H$s g§»`m {H$VZr H$hr h¡ ? 
Cn`w©ŠV _| go H$moB© Zht 

27. N>ÝX Ho$ Hw$b {H$VZo A§J h¢ ? 
Cn`w©ŠV _| go H$moB© Zht 

28. ""\y$bo H$mg gH$b _{h N>mB© & 

OZw ~agm [aVw àH$Q> ~w‹T>mB© &&'' 
Cn ẁ©ŠV n§pŠV`m| _| H$m¡Z-gm Ab§H$ma h¡ ? 

CËàojm 
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29. "nU©Hw$Q>r' H$m {dJ«h hmoJm 

nU© go ~Zr Hw$Q>r 
30. 

{H$g {dÛmZ Ho$ AZwgma, ""VH$, ^a, _mÌ, d¡gm, gm, AmOH$b, nagmo Am{X Aì`` Zht h¢, Š`m|{H$ BZHo$ AmJo H$maH$ 

H$s {d^pŠV`m| H$m à`moJ hmoVm h¡'' ? 

 Cn`w©ŠV _| go H$moB© Zht 
31. 

{ZX}e (à.g§. 31 go 33) : ZrMo {XE JE nmB© MmQ>©, {dÚmb` ZoV¥Ëd Ho$ {bE MwZmd b‹S>Zo dmbo Mma N>mÌm| Ûmam àmßV d¡Y 
_Vm| H$s g§»`m H$mo Xem©Vm h¡ & S>mbo JE d¡Y _Vm| H$s Hw$b g§»`m 720 Wr & 

MmQ>© H$m AdbmoH$Z H$a| Am¡a CgHo$ AmYma na àíZ H$m CÎma X| & 

Directions (Q.No. 31 to 33) : The Pie Chart given below represents the number of valid votes 

obtained by four students who contested election for school leadership. The total number of 

valid votes polled was 720. 

Observe the Chart and answer the questions based on it. 

 

{H$gr ^r Cå_rXdma Ûmam àmßV Ý ỳZV_ _Vm| H$s g§»`m {H$VZr Wr ? 
120 

What was the minimum number of votes obtained by any candidate ? 

120 

32. 
{dOoVm H$m¡Z Wm ? 
{edam_Z 

Who was the winner ? 

Sivaraman 

 

33. 
{dOoVm Zo AnZo {ZH$Q>V_ à{VÛ§Ûr H$mo {H$VZo _Vm| go ham`m ? 
40 

By how many votes did the winner defeat his nearest rival ? 

40 
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34. {ZåZ{b{IV AmH¥${V _| {H$VZo {Ì^wO h¢ ? 

 

13 

How many triangles are there in the following figure ? 

 

13 

35. àíZ AmH¥${V Ho$ n¡Q>Z© H$mo {dH$ënm| _| Xr JB© H$m¡Z-gr AmH¥${V nyam H$aoJr ? 

 

 

Which figure given in the alternatives will complete the pattern in the question figure ? 
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36. 
O~ Xn©U H$mo aoIm AB na aIm OmE Vmo {dH$ënm| _| go ghr Xn©U à{Vq~~ MwZ| & 

 

 

Choose the correct mirror image from the alternatives when mirror is placed on the line AB. 

 

 

37. 
gd©Wm {^Þ Mw{ZE & 
Jmobm 

Choose the odd one out. 

Sphere 

38. 

{XE JE {dH$ënm| _| go dh AmH¥${V kmV H$s{OE {Ogo g_ñ`m AmH¥${V`m| Ho$ ~Jb _| aIZo na g_ñ`m AmH¥${V`m| H$m 
H«$_ Omar ahoJm &  
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Find out the figure from the given alternatives which when placed next to the problem figures 

will continue the sequence of problem figures. 

 

 

39. 
EH$ Vñdra H$s Amoa Bemam H$aVo hþE EH$ AmX_r Zo H$hm, ""_oam H$moB© ^mB© `m ~hZ Zht h¡ bo{H$Z Cg AmX_r H$m {nVm _oao 
{nVm H$m ~oQ>m h¡ '' & dh Vñdra {H$gH$s Wr ? 
CgHo$ nwÌ H$s 

Pointing to a photograph, a man said, “I have no brother or sister but that man’s father is my 

father’s son”. Whose photograph was it ? 

His son’s 

40. 
{ZåZ{b{IV _| go ghr {dH$ën Mw{ZE, Omo ûm§¥Ibm H$mo nyam H$aoJm & 

75, 77, 72, 80, 69, 83, ?, ?  

66, 86 

Choose the correct alternative from the following that will complete the series. 

75, 77, 72, 80, 69, 83, ?, ?  

66, 86 

41. 
àíZ {M• Ho$ ñWmZ na H$m¡Z-gr g§»`m Am òJr ? 

 

62 

 

Which number will come in the place of question mark ? 

 

62 

42. 
EH$ n[adma _o§, lr àH$me H$s nËZr Am¡a CZHo$ Xmo {ddm{hV ^mB© h¢, {OZ_| go EH$ Ho$ Xmo ~ÀMo h¢ Am¡a Xÿgao Ho$ H$moB© 
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g§VmZ Zht h¡ & n[adma _| {H$VZo gXñ` h¢ ? 
8 gXñ` 

In a family, Mr. Prakash has his wife and his two married brothers of whom one has two 

children and another has no child. How many members are there in the family ? 

8 members 

43. 
EH$ {M{‹S>`mKa _| {haU Am¡a _moa h¢ & {ga {JZZo na CZH$s g§»`m 80 h¡ & Am¡a CZHo$ n¡am| H$s g§»`m 200 h¡ & {H$VZo 
_moa h¢ ? 
60 

There are deer and peacocks in a zoo. By counting heads they are 80. And the number of 

their legs is 200. How many peacocks are there ? 

60 

44. 
EH$ aobJm‹S>r ñQ>oeZ A go MbVr h¡ Am¡a 40 {H$_r/K§Q>m H$s J{V go MbZo na 15 {_ZQ> Xoar go B na nhþ±MVr h¡ Am¡a 30 

{H$_r/K§Q>m H$s J{V go MbZo na 24 {_ZQ> Xoar go nhþ±MVr h¡ & XmoZm| ñQ>oeZm| Ho$ ~rM H$s Xyar {H$VZr h¡ ? 

18 {H$_r 

A train starts from station A and reaches B 15 minutes late when it moves with 40 km/hr and 24 

minutes late when it goes 30 km/hr. The distance between the two stations is 

18 km 

45. 
`{X × H$m AW© ÷ – H$m AW© ×, ÷ H$m AW© + Am¡a + H$m AW© – h¡, Vmo (3 – 15 ÷ 19) × 8 + 6 = ? 

2 

If × means ÷, – means ×, ÷ means + and + means –, then (3 – 15 ÷ 19) × 8 + 6 = ? 

2 

46. 
gw{_V {~§Xw ‘A’ go nyd© H$s Amoa 20 _rQ>a MbVm h¡, {\$a X{jU-npíM_ {Xem _| 20 _rQ>a MbVm h¡ & {\$a  
CÎma-npíM_ {Xem _| 20 _rQ>a MbVm h¡ Am¡a {~§Xw B na nhþ±MVm h¡ & A Am¡a B Ho$ ~rM H$s Xyar kmV H$s{OE & 

( )20 2 -- 1 _r 

Sumit walks 20 m to the East from point ‘A’, then walks 20 m in South-West direction. Then 

walks 20 m in North-West direction and reaches at point B. Find distance between  

A and B. 

( )20 2 -- 1 m 

47. 
b‹S>H$m| H$s EH$ n§pŠV _| lrZmW ~mE± go 7 d| ñWmZ na h¡ Am¡a d|H$Q> XmE± go 12 d| ñWmZ na h¡ & `{X do AnZm ñWmZ 
~Xb boVo h¢, Vmo lrZmW ~mE± go 22 d| ñWmZ na Am OmVm h¡ & n§pŠV _| {H$VZo b‹S>Ho$ h¢ ? 
33 

In a row of boys, Srinath is 7th from the left and Venkat is 12th from the right. If they 

interchange their positions, Srinath becomes 22nd from the left. How many boys are there in 

the row ? 

33 

48. 
{XE JE eãXm| H$mo eãXH$moe _| AmZo dmbo H«$_ _| ì`dpñWV H$a| & 
 1. Circulate 

 2. Circuit 



 

SJ4 8 MASTER SET 
 

 3. Citrus 

 4. Cinnamon 

 5. Circular  

42513 

Arrange the given words in the sequence in which they occur in the dictionary. 

 1. Circulate 

 2. Circuit 

 3. Citrus 

 4. Cinnamon 

 5. Circular 

42513 

49. EH$ Am`V H$s b§~mB© 40% ~‹T>m Xr OmVr h¡ Am¡a Am`V H$s Mm¡‹S>mB© ^r 40% ~‹T>m Xr OmVr h¡, Vmo Am`V H$m 
joÌ\$b {H$VZm ~‹T> OmVm h¡ ? 
96% 

The length of a rectangle is increased by 40% and the breadth of the rectangle also by 40%, then 

the area of the rectangle is increased by 

96% 

50. 35 brQ>a XyY Am¡a nmZr Ho$ {_lU _| ewÕ XyY Am¡a nmZr H$m AZwnmV 4 : 1 h¡ & `{X {_lU _| 7 brQ>a nmZr Am¡a 
{_bm {X`m OmE, Vmo n[aUm_r {_lU _| XÿY Am¡a nmZr H$m AZwnmV Š`m hmoJm ? 
2 : 1 

In a mixture of 35 litres of milk and water, the ratio of pure milk and water is 4 : 1. If another 7 litres 

of water is mixed to the mixture, the ratio of milk and water in the resulting mixture is 

2 : 1 

51. dh g~go N>moQ>m nyUmªH$ H$m¡Z-gm h¡ {Ogo 18, 24 Am¡a 56 go {d^m{OV H$aZo na eof 2 ~MVm h¡ ? 
506 

The least integer when divided by 18, 24 and 56 leaves remainder 2 is  

506 

52. 

{ZX}e (à.g§. 52 Am¡a 53) : EH$ {ZpíMV H$moS> ^mfm _| H$m°b_ – I _| {XE JE dmŠ`m| Ho$ H$moS> H$m°b_> – II _| {XE JE h¢ & 
àË òH$ eãX H$m EH$ {d{eîQ> H$moS> h¡ & BZ H$moS>m| Ho$ AmYma na àíZm| Ho$ CÎma Xr{OE & 

Directions (Q. No. 52 and 53) : In a certain code language, the codes for the sentences 

given in Column – I are given in Column – II. Each word has a unique code. Answer the 

questions based on these codes. 
H$m°b_ – I/Column – I           H$m°b_ – II/Column – II 

eat well keep safe – la ma ra ta 

keep things better than bad – sa ra me le fe 

eat better food safe – ma me ta xe 

  better things are safe            –    me le ze ma   

"safe’ Ho$ {bE H$moS> Š`m h¡ ? 
ma 

What is the code for ‘safe’ ? 

ma 

53. 
H$m¡Z-gm eãX ‘xe’ Ho$ ê$n _| H$mo{S>V h¡ ? 
food 
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Which word is coded as ‘xe’ ?  

food 

54. 

A + B H$m AW© h¡ A, B H$m nwÌ h¡ & 

A – B H$m AW© h¡ A, B H$s nwÌr h¡ & 

A × B H$m AW© h¡ A, B H$m {nVm h¡ & 

A ÷ B H$m AW© h¡ A, B H$s _m± h¡ & 

`{X M × N + O – P ÷ Q Vmo M, Q go {H$g àH$ma g§~§{YV h¡ ? 
gmbm 

A + B means A is the son of B. 

A – B means A is the daughter of B. 

A × B means A is the father of B. 

A ÷ B means A is the mother of B. 

If M × N + O – P ÷ Q, then how is M related to Q ? 

Brother-in-law 

55. 
{XZm§H$ 3 Aà¡b 2005; 6 AJñV 2010 Am¡a 5 {Xg§~a 2013 H$mo {XZm§H$-_mh-df© Ho$ ê$n _| {bIZo na, EH$ 
A{ÛVr` J{UVr` JwU hmoVm h¡ & {ZåZ{b{IV _| go {H$g df© Ho$ ^maVr` ñdV§ÌVm {Xdg _| g_mZ JwU hmoVm h¡ ? 
2017 

The dates 3rd April 2005; 6th August 2010 and 5th December 2013  when written in  

date-month-year form, have a unique mathematical property. The Indian Independence Day of 

which year has the same property among the following ? 

2017 

56. 
½bmo~b \«o$Q> g{_Q> 2024 H$s ewéAmV H$hm± hþB© ? 
Xþ~B© 

The Global Freight Summit 2024 was commenced in 

Dubai 

57. 

G20 {eIa gå_obZ 2024 H$hm± Am`mo{OV {H$`m OmEJm ? 
[a`mo S>r OoZo[a`mo 

The G20 Summit 2024 is held in 

Rio de Janeiro 

58. 
J§JmgmJa _obo H$m Am`moOZ {ZåZ{b{IV _| go {H$g amÁ` go g§~§{YV h¡ ? 
npíM_ ~§Jmb 

The celebration of Gangasagar fair is associated with which of the following State ?  

West Bengal 

59. 
UNCED H$m _Vb~ h¡ 

`yZmBQ>oS> ZoeÝg H$m°Ý\o$aoÝg Am°Z BÝdm`am°Z_|Q> EÊS S>odbn_|Q>> 
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The UNCED stands for 

United Nations Conference on Environment and Development 

60. 
g[añH$m Q>mBJa [aOd© {H$g amÁ` _| h¡ ? 

amOñWmZ 

The Sariska Tiger Reserve is in the State of  

Rajasthan 

61. 
h[aV J¥h à^md Ho$ {bE _w»` ê$n go {Oå_oXma J¡g h¡ 

H$m~©Z S>mB©Am°ŠgmBS 

The gas which is largely responsible for the green house effect is 

Carbon dioxide 

62. 

dm ẁ_§S>b H$s dh naV {Og_| D±$MmB© ~‹T>Zo Ho$ gmW Vmn_mZ H$_ hmoZo bJVm h¡  

_Ü`_§S>b 

The layer of the atmosphere in which the temperature starts decreasing with the increase in 

altitude 

Mesosphere 
63. 

gmVdmhZ d§e Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| & 

 i. gr_wH$ Bg d§e H$m g§ñWmnH$ Wm & 

ii. CZH$s amOYmZr à{VîR>mZ Wr & 

iii. Bg d§e Ho$ gmVd| amOm hbm Zo g§ñH¥$V ^mfm _| JmWmgßVeVr {bIr Wr & 

Cn ẁ©ŠV H$WZm| _| go H$m¡Z-gm/go gË` h¡/h¢ ? 

Ho$db i Am¡a ii 

Consider the following statements about  Shatavahana dynasty. 

 i. Simukha was the founder of this dynasty. 

ii. Their capital was Prathisthana.  

iii.The seventh king of this dynasty Hala wrote Gathasapthashati in Sanskrit language. 

Which of the above statements is /are true ? 

Only i and ii 

64. 
B{Vhmg Ho$ {ZåZ{b{IV Eo{Vhm{gH$ òmoVm| na {dMma H$a| & 

 i. Bbmhm~mX ñV§^ {ebmboI & 
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ii. H$m{bXmg H$s aMZmE± & 

iii. {demImXÎm H$s _wÐmamjg & 

iv. amOeoIa H$s H$mì`_r_m§gm & 

Cn ẁ©ŠV _| go H$m¡Z-gm òmoV h_| JwßV B{Vhmg H$m AÜ``Z H$aZo _| _XX H$aVm h¡ ? 

Cn`w©ŠV g^r 

Consider the following historical sources of history.  

 i. Allahabad Pillar Inscription. 

ii. Works of Kalidasa.  

iii. Mudrarakshasa of Vishakadatta. 

iv. Kavyamimamse of Rajashekara. 

Which of the above sources help us to study Gupta history ? 

All of the above 

65. 
{ZåZ{b{IV _| go H$m¡Z-gr hf©dY©Z Ûmam Zht {bIm J`m h¡ ? 

H$mXå~ar 

Which of the following is not written by Harshavardhana ?  

Kadambari 

66. 
^maV Ho$ MwZmd Am`moJ Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` Zht h¡ ? 

MwZmd Am ẁŠV Ho$ H$m`m©b` H$s A{YH$V_ Ad{Y 5 df© h¡ & 

Which of the following statements is not true about Election Commission of India ? 

The maximum term of the office of Election Commissioner is 5 years. 

 

 

 

67. {ZåZ{b{IV gyMr – A H$mo gyMr – B go gw_o{bV H$a| &  

 gyMr – A                 gyMr – B 
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 a. H$moH$mog ßboQ> i. X{jU A_o[aH$m Am¡a àem§V ßboQ> Ho$ ~rM 

 b.ZmµÁH$m ßboQ> ii. _Ü` A_o[aH$m Am¡a àem§V ßboQ> Ho$ ~rM  

 c.Aao{~`Z ßboQ> iii. E{e`mB© Am¡a àem§V ßboQ> Ho$ ~rM  

 d.{\$brnrZ ßboQ> iv. A{YH$Va gD$Xr Aa~ H$m ^ŷ mJ 

 

a   b   c    d 

ii    i   iv   iii 

Match the following List – A  with List – B. 

      List – A                                      List – B 

 a.  Cocos plate i. Between South  

                                                     America and Pacific Plate  

 b.  Nazca plate ii. Between Central  

                                                     America and Pacific Plate 

 c.  Arabian plate iii. Between the Asiatic  

                                                     and Pacific Plate 

 d.  Philippine plate iv. Mostly the Saudi  

                                        Arabian Landmass 

a   b   c    d 

ii    i   iv   iii 

68. 
EH$ ^maVr` EWbrQ> {Ogo bmoH${à` ê$n go "nm°Ho$Q> S>mBZ_mo' Ho$ Zm_ go OmZm OmVm h¡  

Imem~m XmXmgmho~ OmYd 

An Indian athlete popularly known as ‘pocket dynamo’ 

Khashaba Dadasaheb Jadhav 

69. 
^r_~oQ>H$m H$s Jw\$mAm| H$s ImoO {H$gZo H$s Wr ? 

dr. Eg. dmH$UH$a 

The  caves of Bhimbetka were discovered by 

V. S. Wakankar 

 

70. 
Eµ\¢$Q>m{g`m Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| & 
i. `h _mZ{gH$ Ñí` {MÌ ~ZmZo _| Ag_W©Vm h¡ & 
ii. Bgo nhbr ~ma 1880 Ho$ XeH$ _| \«$m§{gg J¡ëQ>Z Zo XoIm Wm & 
iii. Bg pñW{V dmbo ì`pŠV AnZo {X_mJ _| {MÌm| H$s H$ënZm Zht H$a gH$Vo & 
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Cn ẁ©ŠV H$WZm| _| go H$m¡Z-gm/go gË` h¡/h¢ ? 
Cn`w©ŠV g^r 

Consider the following statements about Aphantasia. 

i. It is the inability to create mental visual images. 

ii. It was first noted in the 1880s by Francis Galton. 

iii. Individuals with this condition can not visualize pictures in their mind. 

Which of the above statements is /are true ? 

All of the above 

71. 
amîQ́>r` gm¡a D$Om© g§ñWmZ H$m _w»`mb` H$hm± pñWV h¡ ? 
JwéJ«m_ 

The National Institute of Solar Energy is headquartered in 

Gurugram 

72. 
"ChatGPT' {H$gHo$ ñdm{_Ëd _| h¡ ? 
OpenAI 

The ‘ChatGPT’ is owned by 

OpenAI 

73. 
E§Q>rgra_ EH$ gra_ h¡ {Og_| hmoVm h¡ 
E§Q>r~m°S>r 

Antiserum  is a serum containing 

Antibodies 

74. 
H$mo{eH$mAm| H$s ImoO g~go nhbo {H$gZo H$s ? 
am°~Q>© hwH$ 

Cells were first discovered by 

Robert Hooke 

75. 
Eo_²ZoñQ>r B§Q>aZoeZb H$m _w»`mb` H$hm± pñWV h¡ ? 
b§XZ 

The headquarter of Amnesty International is located in 

London 

76. 
OmnmZ Ho$ dV©_mZ àYmZ_§Ìr H$m¡Z h¢ ? 
{eJoé B©{e~m 

Who is the current Prime Minister of Japan ? 

Shigeru Ishiba 

77. 

à^wËd Ho$ {Z`_ Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| & 

 i. JwUY_m] H$mo AgVV BH$mB`m| Ûmam {Z §̀{ÌV {H$`m OmVm h¡ {OÝh| H$maH$ H$hm OmVm h¡ & 

ii. H$maH$ Omo‹S>o _| hmoVo h¢ & 

iii. H$maH$m| H$s EH$ Ag_mZ Omo‹S>r _| Omo‹S>r H$m EH$ gXñ` Xygao (Aà^mdr) na hmdr (à^mdr) hmoVm h¡ &   
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Cn ẁ©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ? 

i, ii Am¡a iii 

Consider the following statements about law of Dominance. 

 i.  Characters are controlled by discrete units called factors. 

ii.  Factors occur in pairs. 

iii. In a dissimilar pair of factors one member of the pair dominates (dominant) the other       

(recessive). 

Which of the above statements is/are correct ? 

i, ii and iii 

78. 
am_ga ñWb "Vdm Obme`' {H$g amÁ` _| pñWV h¡ ? 
_Ü` àXoe 

The Ramsar site ‘Tawa Reservoir’ is   located in the State of 

Madhya Pradesh 

79. 
amîQ´>r` J{UV {Xdg {H$g {XZ _Zm`m OmVm h¡ ? 
22 {Xg§~a 

The National Mathematics Day is observed on 

22nd December 

80. 
O{b`m±dmbm ~mJ hË`mH$m§S> H$~ hþAm Wm ? 
1919 

The Jallianwala Bagh massacre took place in 

1919 

81. 
CÎma àXoe H$m g~go npíM_r {Obm H$m¡Z-gm h¡ ? 
em_br 
The westernmost district of Uttar Pradesh is 

Shamli 

82. 
CÎma àXoe amÁ` amO_mJ© àm{YH$aU H$m JR>Z {H$g df© _| {H$`m J`m Wm ? 
2004 

The Uttar Pradesh State Highways Authority was constituted in  

2004 

83. 
CÎma àXoe _| MmHy$ ZJar H$m {IVm~ nmZo dmbm {Obm H$m¡Z-gm h¡ ? 
am_nwa 
The district which earned the title Knife City in Uttar Pradesh ? 

Rampur 

84. H$Nw>Am dÝ` OrdZ A^`maÊ` Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| & 
 i. `h CÎma àXoe Ho$ dmamUgr {Obo _| pñWV h¡ & 
ii. `h Xoe H$m nhbm _rR>o nmZr H$m H$Nw>Am dÝ` OrdZ A^`maÊ` Wm & 
iii. H$Nw>Amo§ H$mo AmYo Obo hþE _mZd edm| H$mo O¡{dH$ VarHo$ go hQ>mZo Ho$ {bE N>mo‹S>m J`m Wm & 

Cn ẁ©ŠV H$WZm| _| go H$m¡Z-gm/go gË` h¡/h¢ ? 
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Cn`w©ŠV g^r 
Consider the following statements about Turtle Wildlife Sanctuary. 

i.It is located in Varanasi district of Uttar Pradesh. 

ii.It was the first freshwater turtle wildlife sanctuary in the country. 

iii.The turtles were released to promote organic removal of half-burnt human corpses. 

Which of the above statements is/are true ? 

All of the above 

85. CÎma àXoe gaH$ma Zo {H$g ñWmZ _| d¡{XH$-3S>r g§J«hmb` Ho$ {Z_m©U H$s KmofUm H$s h¡ ? 
dmamUgr  

In which place the government of Uttar Pradesh has announced the construction of  Vedic-3D 

museum ? 

Varanasi 

86. joÌ\$b H$s ÑpîQ> go CÎma àXoe H$m g~go ~‹S>m {Obm h¡  
bIr_nwa Irar 

The largest district in Uttar Pradesh with reference to area is 

Lakhimpur Kheri 

87. 
CÎma àXoe H$m YmZ H$m H$Q>moam H$hm OmZo dmbm {Obm h¡ 
M§Xm¡br 

The district called as the Rice Bowl of Uttar Pradesh 

Chandauli 

88. 
CÎma àXoe Ho$ "_Q>m{Q>b' ~m±Y H$m {Z_m©U ________ ZXr na {H$`m J`m Wm & 
~oVdm 

The ‘Matatila’ dam of Uttar Pradesh was constructed on the river 

Betwa 

89. CËnmXm| H$mo CZH$s Hw$N> _hËdnyU© {deofVmAm| O¡go JwUdÎmm Am¡a AmH$ma Ho$ AmYma na {d{^ÝZ g_yhm| _| dJuH¥$V H$aZo 
H$s à{H«$`m H$mo H$hm OmVm h¡  
J«o{S>§J 

The process of classification of products into different groups on the basis of some of its 

important characteristics such as quality and size is called 

Grading 

90. ^maV H$m nhbm ñQ>m°H$ EŠgM|O df© _________ _| ñWm{nV {H$`m J`m Wm & 
1875 

The first Stock Exchange of India was set up in 

1875 

91. 
àmW{_H$ ~mOma Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ JbV h¡ ? 
EH$ {ZpíMV ^m¡Jmo{bH$ ñWmZ hmoVm h¡ &  

Which of the following statement about Primary Market  is incorrect ? 

There is a fixed geographical location. 
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92. 

{dÎmr` ~mOmam| Ho$ H$m`m] Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| &  
i. ~MV OwQ>mZm Am¡a CÝh| g~go A{YH$ CËnmXH$ Cn`moJm| _| bJmZm &  
ii. _yë` ImoO H$mo gw{dYmOZH$ ~ZmZm & 
iii. {dÎmr` n[ag§n{Îm`m| H$mo VabVm àXmZ H$aZm & 
iv. boZ-XoZ H$s bmJV H$mo H$_ H$aZm & 

   Cn ẁ©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ? 
i, ii, iii Am¡a iv 

Consider the following statements about the functions of Financial Markets. 

 i. Mobilisation of savings and channeling them into the most productive uses. 

ii. Facilitating price discovery. 

iii. Providing liquidity to financial assets. 

iv. Reducing the cost of transactions. 

Which of the above statements is/are correct ? 

i, ii, iii and iv 

93. 
CÎma àXoe gaH$ma Ho$ à_wI H$m ©̀H«$_ Ho$ VhV E_.Eg.E_.B©. na {deof Ü`mZ {X`m J`m  
EH$ {Obm EH$ CËnmX 

Under Uttar Pradesh government’s flagship programme, special attention was given to  

MSMEs 

One District One Product 

94. 
nhbm ỳnr {ZdoeH$ {eIa gå_obZ Am`mo{OV {H$`m J`m Wm  
2018 

The first UP Investors Summit was held in 

2018 

95. 

CÎma àXoe d¡pídH$ {ZdoeH$ {eIa gå_obZ ( ỳ.nr.Or.AmB©.Eg.) 2023 H$hm± Am`mo{OV {H$`m J`m Wm ? 
bIZD$ 

Uttar Pradesh Global Investors Summit (UPGIS) 2023 was held in 

Lucknow 

96. 

dm{UpÁ`H$ ~¢H$m| H$mo AnZo J«mhH$m| H$mo F$U àXmZ H$aZo go nhbo gaH$ma Ûmam AZw_mo{XV à{V ŷ{V`m| na gmoZo Ho$ ê$n _| 
~ZmE aIZo Ho$ {bE Amdí`H$ am{e H$m AZwnmV h¡ 
ñQ>¡MwQ>{a {bpŠdS>r{Q> ao{e`mo 

The ratio of an amount that the commercial banks require to maintain in the form of gold on 

government approved securities before providing credit to its customers is 

Statutory Liquidity Ratio 

97. CÎma àXoe Ho$ {ZåZ{b{IV _| go {H$g CËnmX H$mo 2024 _| ^m¡Jmo{bH$ g§Ho$V (Or.AmB©.) H$m XOm© {X`m J`m h¡ ? 
Cn`w©ŠV g^r 

Which of the following product/s from Uttar Pradesh has/have been accorded Geographical 

Indication (GI) status in  2024 ? 
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All of the above 

98. 

N>R>r eVmãXr B©gm nyd© Ho$ Xm¡amZ amÁ`m| Am¡a CZH$s amOYm{Z`m| Ho$ ~mao _| JbV {_bmZ H$s nhMmZ H$a| & 
H$mer  –  _Wwam 

Identify the incorrect matching about States during 6th century B.C. and their capitals. 

Kashi – Mathura 

99. 

go~r Ho$ {d{Z`_H$ H$m`m] Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| & 
 i. Xbmbm| Am¡a Cn-Xbmbm| VWm ~mOma _| AÝ` {Ibm{‹S>`m| H$m n§OrH$aU &  
ii. gm_y{hH$ {Zdoe `moOZmAm| Am¡a å ỳMwAb \§$S>m| H$m n§OrH$aU & 
iii. H§$n{Z`m| Ûmam A{YJ«hU ~mo{b`m| H$m {d{Z`_Z & 
iv. A{Y{Z`_ Ho$ CÔoí`m| H$mo nyam H$aZo Ho$ {bE ewëH$ `m AÝ` ewëH$ bJmZm & 

Cn ẁ©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ? 
i, ii, iii Am¡a iv 

Consider the following statements about the  Regulatory functions of SEBI. 

 i. Registration of brokers and sub-brokers and other players in the market. 

ii. Registration of collective investment schemes and Mutual Funds. 

iii. Regulation of takeover bids by companies. 

iv. Levying fee or other charges for carrying out the purposes of the Act.  

Which of the above statements is/are correct ? 

i, ii, iii and iv 

100. _Zr _mH}$Q> B§ñQ̄>_|Q²>g `m {gŠ`mo{aQ>rO Ho$ ~mao _| {ZåZ{b{IV na {dMma H$a| &  

 i. H$m°b _Zr &  

ii. Q´>oOar {~b & 

iii. H$_{e©`b nona &  

iv. Q´>oS> {~b & 

 Cn ẁ©ŠV _| go H$m¡Z-go _Zr _mH}$Q> B§ñQ¯>_|Q²>g `m {gŠ`mo{aQ>rO h¢ ? 
i, ii, iii Am¡a iv 

Consider the following about Money Market Instruments or Securities. 

i.Call money. 

ii.Treasury Bill. 

iii.Commercial Paper. 

iv.Trade Bill. 

Which of the above are Money Market Instruments or Securities ?  

i, ii, iii and iv 

 


